— A

...... e a2l 2ol 2ol Samigmened 6
e

¢
A A B A A ML A S

B

.......... LS

N

g
™ i
\ ® k
L >
- \’ o
- N Nox :

—_—

INSTALL INSTRUCTIONS
Jeep JL Front Skid Plate

Products: 51825PB(Mid-Width), 5183SPB(Full-Width),
Application : 2018+ Jeep Wrangler JL
2020+ Jeep Gladiator JT

Page (1of3)




INSTALL INSTRUCTIONS

| WARNING

Read the instructions completely before beginning installation. Before tightening bolts,
drilling or cutting where required, check to make sure there are no obstructions such as
brake, fuel or electrical lines which may be damaged. Also keep in mind this is an after-
market product and MAY require minor shimming and/or trimming, reaming, etc. for
proper fit. Road Armor is not responsible for any damages to vehicle.

® IMPORTANT NOTICE

e Be sure to inspect and test fit your product to ensure proper fitment before having it coated, painted, bed
lined, etc.

e Road Armor will not be responsible for the cost of coating your unit if any problems with fit or finish are not
noted and addressed beforehand.

SAFETY FIRST!

e FOLLOW ALL INSTRUCTIONS, YOUR SAFETY AND THE SAFETY OF OTHERS IS MOST IMPORTANT.
e WEAR APPROPRIATE EYE PROTECTION AND EXERCISE CAUTION

REQUIRED TOOLS

Metric and SAE Socket Sets and Wrenches

INCLUDED HARDWARE

(9) 3/8-in x 1-in Hex Head Bolt Tabs
(9) 3/8-in Lock Nuts

- i\"&;».uw.mwh
Al iR miirioi e

(18) 3/8-in Small Washers

2018+ Jeep Wrangler JL Front Skid Plate www.ROADARMOR.com Page ( 2 of 3)



INSTALL INSTRUCTIONS

Install Road Armor Accessory Mid-Width (PN#5182$PB)

Install kit skid plate to lower section of bumper with kit 3/8” bolts (9), washers (18) and lock nuts
(9) loosely; once aligned tighten all hardware. FINISHED!

e o

P RS es

ST

o

Install Road Armor Accessory Full-Width (PN#5183SPB)

Install kit skid plate to lower section of bumper with kit 3/8” bolts (5), washers (10) and lock nuts
(5) loosely; once aligned tighten all hardware. FINISHED!

A\

A
i
=3 =3
OO L B v
= =

O

s

2018+ Jeep Wrangler JL Front Skid Plate www.ROADARMOR.com

Page ( 3 of 3)



